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  إجابات أسئلة الدرس

  الرقم الهيدروجيني

  شبكة منهاجي التعليمية

  

  :)٣(سؤال 

  

  :)٦(سؤال 

  )١الفرع (

pH    =- و ــل[H3O+]   

 [H3O+]       =١٠-pH  

 [H3O+]     =٥-١٠×    ٠,٧٨١٠=     )٠,٧٨+  ٥-(١٠  =  ٤,٢٢-١٠  

  مول/لتر. ٥-١٠×    ٦=    
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  ):٢الفرع (

pH    =- و ــل[H3O+]   

 [H3O+]     =١٠-pH  

 [H3O+]    =٤-١٠×    ٠,٤٨١٠=     )٠,٤٨+  ٤-(١٠=     ٣,٥٢-١٠  

  مول/لتر. ٤-١٠×    ٣=    

  

  ):٣الفرع (

pH    =- و ــل[H3O+]   

 [H3O+]     =١٠-pH  

 [H3O+]    =٦-١٠×    ٠,٢١٠=     )٠,٢+  ٦-(١٠=     ٥,٨-١٠  

  مول/لتر. ٦-١٠×    ١,٦=    

  

  :)٧(سؤال 

  أكمل الفراغات في الجدول:

  طبيعة المحلول  pH  [-OH]  [+H3O] المحلول

  حمضي  صفر ١٤-١٠×  ١  ١  ١

  قاعدي  ٨  ٦-١٠×  ١  ٨-١٠×  ١  ٢

  حمضي  ٢  ١٢-١٠×  ١  ٢-١٠×  ١  ٣

  


